Instructions for DIY Remote Security Camera

Build pan functions of motion control base
Step 1:
Mount 1 lazy susan to the bottom side of the pan base board using the pre drilled holes and 4 #10x1/2 inch screws.

Step 2:
Flip the pan base board over and attach 2 of the 1-1/2”x1-1/2” angle brackets using the pre drilled holes and 4 #10x1/2inch screws.  These will support the upright tilt function support board.

Step 3:
Attach upright tilt function support board using the pre drilled holes and 4 #10x1/2inch screws.  

Step 4:
Attach the bottom portion of the lazy susan to the main motion control base board using the pre drilled holes and 4 #10x1/2 inch screws.

Build tilt function motion control base

Step 1:
Mount 1 lazy susan to the back side of the vertical tilt control board using the pre drilled holes and 3 #10x1/2 inch screws.

Step 2:
Take the camera base board and attach 2 of the 1-1/2”x1-1/2” angle brackets using the pre drilled holes and 4 #10x1/2inch screws. These will support the camera base board to the vertical tilt control board.

Step 3:
Flip the vertical tilt control board over and attach the camera base board using the pre drilled holes and 4 #10x1/2inch screws.

Step 4:

Attach bottom side of lazy susan to the upright tilt function support board using the pre drilled holes and 4 #10x1/2 inch screws.

Mount eye screws for control cables
Step 1:
Mount motion base cable standoff board to the main motion control base board using the pre drilled holes and 3 #10x3/4” screws.

Step 2:
Attach 3 screw eyes, 2 #214x 13/16 small screw eyes and 1 #212x 15/16 medium screw eye for each cable.  

Step 3:
For the pan control cables, the medium screw eye will go to the back of motion base cable standoff board to support the cable housing, and a small screw eye in front of it to act as a cable housing stop. The remaining small screw will be used to attach the ends of the cables to the pan base board.

Step 4:
For the tilt control cables, the medium screw eyes and the center back edge of will go to the top edge back pre drilled hole of the upright tilt function support board, and the center back edge of upright tilt function support board to support the cable housing, and a small screw eye in front of it to act as a cable housing stop. The remaining small screw will be used to attach the ends of the cables to the vertical tilt control board.

Attach cable housings and cables to motion control base
Step 1:
Make sure all openings of the cut cable housing ends are open using the tip of a small Phillips tip screwdriver

Step 2:
Being careful not to fray the ends of or kink the cables, fish each of the cables through a corresponding row of screw eyes, starting from the front of the device leading towards the back and then feeding through the cable housing.  Do this for each of the cables.

Step 3:
Make sure each of the tilt and pan positions of the motion base are in their center positions, and that all the cables are pulled taught, and then minimally trim the ends of all the cables to the same length.

Assemble the control board.
Step 1:
Attach the bottom cable standoff board to the base control board using 2 #10x3/4 inch screws from the bottom side of the base control board.

Step 2:
Attach top cable standoff board using 2 #10x1-1/4” screws from the top down.

Step 3:
Place screw eyes into cable standoff board, 4 small eyes to the back side of the standoff board for cable stops and 4 medium eyes to the front side of the standoff board in the appropriate pre drilled holes. Screw them down as close as possible to the top of the standoff board and that the eyes are lined up.

Step 4:
Mount standoffs for the control levers to the main control board.

Step 5:
Use the pre drilled holes and 4 #10x3/4screws inserted from the underside of the main control board to hold the standoffs down.

Step 6:
Mount the control levers to the control lever standoffs using 1 #10x 1-1/4” screw and 2 #10 flat washers between them for each control lever. Tighten till snug, then back off a half of a turn.

Step 7:

Place 2 of the small eye screws, one on each side of each of the control lever levers. Tighten them down as close as possible to the surface of the wood.

Step 8:
Attach Cables to the control lever. Run the cables in pairs, one control lever for the tilt function and one control lever for the pan function.  Make sure that each of these positions are centered.

Step 9:
Use your cable stops to hold the cable ends in place, making sure that both your cables are tight and that there is not any slop in the motion to controller response.

Mount Camera to Control Base

Step 1:
Attach camera to base using the 1/4-20 hex bolt. 

Step 2 :
Attach cables to TV or video monitor.

Step 3:
Turn on TV and turn on camera, adjust all settings required for the two of them to talk to each other correctly.

Step 4:
Test setup for correct operation, make adjustments where necessary.
